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I. Choose the word or phrase (A, B, C, or D) that best completes each sentence. (35pts).
1. We wondered why 	a tip.
A. to leave	B. should we leave C. we should leave D. don’t we leave
2. Some marine animals are dangerous to humans.
A. living in the mountain	B. living in the ocean
C. living in the forest	D. living in the house
3. The country is divided 	nine regions.
A. to	B. on	C. into	D. up
4. Raw sewage makes the sea 	and endangers sea plants and animals.
A. pollute	B. polluting	C. polluted	D. pollution
5. His assistant hasn’t come, 	?
A. does she	B. has she	C. hasn’t she	D. doesn’t she
6. The dustmen 	the rubbish every day.
A. pick	B. collect	C. bring	D. worry
7. We are talking about the 	of natural resources.
A. preserving	B. preserve	C. preservation	D. preserver
8. Is the woman really 	with his plan to destroy her house?
A. disappoint	B. disappointing	C. disappointment	D. disappointed
9. Everyone must take part in	deforestation.
A. permitting	B. protecting	C. persuading	D. preventing
10.  	is a piece of land full of rubbish.
A. Junkyard	B. Garbage	C. Hedge	D. Treasure
11.  	you are interested in this film, don’t go to see it at any cost.
A. If	B. Unless	C. Because	D. When
12.  	putting garbage bins around the schoolyard?
A. Why not	B. Shall we	C. Why don’t we	D. How about
13. He is tired 	he stayed up late watching TV.
A. so	B. because	C. but	D. and
14. I’m pleased 	all of you have studied better.
A. that	B. when	C. if	D. how
II. Choose the underlined word or phrase (A, B, C or D) that needs correcting (0,5pt)
15. We’re used to think that there was no life in the ocean depths. A	B	C	D
16. Unless we work harder, we will finish on time. A	B	C	D

III. Choose the word or phrase (A, B, C or D) that best fits the blank space in the following passage (2,0pt)
New Year’s Eve is the holiday (17) _ New Year’s Day, on December 31, the last day of the (18) year.
In  modern (19) 	, Western countries usually celebrate this day with a party (20)
 	 culminates with a group countdown to the midnight hour. Parties, noisemakers, fire crackers and (21) 	champagne are fairly common during this holiday.
Many cities also offer fireworks (22) 	_ and other noisy ways to celebrate the holiday. Places (23) 	Berlin, Chicago, Edinburgh, Los Angeles, London, New York, Paris, ect are well-known (24) 		their New Year’s Eve celebrations.
New Year’s Eve is becoming more popular in many developing countries nowadays.

	17. A. before
18. A. moment
19. A. periods
	B. under
B. current
B. times
	C. follow
C. recent
C. phases
	D. during
D. early
D. eras

	20. A. it
	B. when
	C. which
	D. who

	21. A. throwing
	B. cooking
	C. eating
	D. drinking

	22. A. displays
	B. exhibitions
	C. explosives
	D. destructions

	23. A. as
	B. like
	C. just
	D. same

	24. A. to
	B. with
	C. for
	D. into


IV. Complete each sentence with the correct form of the word in brackets (1,5pt)
1. Waste paper can be 	after being recycling. (use)
2. Air 	is one of the most serious problems in big cities.(pollute)
3. Sulphur dioxide is a 	that may cause acid rain. (pollute)
4. He couldn’t hide his 	when he heard she wouldn’t come. (disappoint)
5. Children are 	curious. (nature)
6. The authorities are taking steps to prevent 	_. (deforest)
V. Use the correct tense or form of the verbs in parentheses.(1pt)
1. Their parents want them to buy some good books 	. (read)
2.  	trash will pollute the air. (burn)
3. The best way to reduce garbage is 	and recycle things.(reuse)
4. If you 	a student, you will get a discount on dictionaries. (be)
VI. Finish the second sentence so that it has a similar meaning to the first one. (1,5pts)
1. Using a computer is simple.
	It’s  	
2. She broke the cup because she was careless.
	Because of  	
3. They started playing soccer an hour ago.
	They have  	
4. You must listen to the teacher carefully or you won’t understand the lesson.
	Unless  	
5. Why don’t we go to the movie this weekend?
	Why not  	
6. The smoke filled the room.
	The room  	
